Conclusion Argumentative Essay Outline

To conclude, it is clear that the benefits of [argument] outweigh the drawbacks. It can be seen
from [evidence 1], [evidence 2] and [evidence 3]. Therefore, governments should take steps to
ensure that everyone has access to these advantages by introducing measures such as
_____[policy/programme etc.] ___in order to make sure no one misses out on this opportunity
for progress. Furthermore, increased awareness about this issue will help people understand
why action needs to be taken now more than ever before. With a collective effort towards
solving this problem, we can all work together towards creating a better future for ourselves

and generations after us.



